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(a) What are the key steps involved in developing a comprehensive project
plan? How can project managers effectively monitor and control project
progress to ensure that the plan remains on track and within budget?

(5+3)

(b) Elaborate project management process? What are the key principles of
project management? (3+4)

(a)

(b)

2. (a)

'A goal without a plan is just a wish'.

In the light ofthe above statement, explain the importance ofproject planning.
Outline the essential elements ofa project plan required for its success?

(3+5)

XYZ Hospital is planning to bu d 'Mentar Hearth ward'for patients dealing
with mental health issues. The hospital management is planning to inaugurate
it before the end of the year. you are given the responsibility of managing the
project. As the project manager, discuss the potential obstacles and challenges
you anticipate encountering during the project's execution and how you plan
to address them- , (7)

Briefly describe the participants involved in the loan syndication process.
What are the advantages ofloan syndication? (3+5)

(b) what are the key tax considerations that project managers should take into
account when planning and executing a project? (l)

P.T.O
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OR

(a) 'What is SWOT analysis? Discuss its significance in project management.
Assess any imaginary project by using SWOT analysis. (3+3+2)

(b) What is net present value (NPV) of a project? How does NPV incorporates

the concept of time value of money in its calculation? Explain with an example.

(2+s)

(a) What factors should you consider when calculating the social discount rate
for a project, and how would you use the rate to evaluate the project's
benefits and costs? (5+3)

(b) ' Discuss the challenges and considerations associated with project closure

and the project audit process. (7)

OR

(a) A project is considering following three scenarios. The base values with
respect to the product being sold by the company are given as follows:

Variables
Base

Scenario
Optimistic
Scenario

Expected
Scenario

Pessimistic
Scenario

Sales (in units) 1250 2250 1500 1 100

Selling Price per unit (in Rs.) 100 95 105 93

Variable Cost per unit (in Rs.) 60 63 65 67

Fixed Cost (in Rs.) 15,000 15,000 15,000 15,000

Investrnent Outlay (ln Rs.) 1,00,000 1,00,000 1,00.000 1,00,000

Depreciation (%) 20% 20% 20o/o

Tax rate (%) 30% 30% 30% 30o/o

Required Rate of Retum (%) t0%
Proiect life (in vears) 8 years

PVAI at 1070 for 8 years 5.3349

P.T.O.
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1

Undertake the scenario analysis to determine whether the firm should accept

the project or not. a.= (8)

(b) Differentiate between commercial viability and economic feasibility. (7)

A work project consists of 10 activities labelled A through J. Time estimates for
these activities is as follows:

Activitv Activitv Name Optimistic
time estimate
(t") (in davs)

Most likely
time estimate
(t',) (in days)

Pessimistic
time estimate
(tp) (in days)

t-2 4 6 8

1-l B 2 3 IO

l4 C 6 8 t6
D I 2 3

34 E 6 7 8

3-5 F ) 8 II
4-6 ci 3 5 7

4-7 H 1 u t2
5-7 I 4 6

6-7 j 8 l3

(8)

(b) Determine critical path and find the probability that project is completed in
less than 20 days.

(The area under the normal curve for the relevant z value is 0.0384)
(5+2)

(Alternative question for students with visual impairment)

What is a network diagram? What are the benefits of using network diagram
in project management? Differentiate b€tween PERT and CPM techniques of
project management. (5+5+5)

(a) Construct a project diagram based on the information provided above.
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5. Write short notes on any two of the following:

(a) Work Breakdown Structure

5

OR

(a) How do project managers utilize the Program Evaluation and Review Technique

(PERT) for activity planning and scheduling? Outline the key assumptions

and steps in constructing a PERT network diagram. (8)

I
(b) Explain the five stages invr$ved in United Nations Industrial Development

Organization (LINIDO) Approach to measure the social benefit of a project'
(7)

(7.s+7.s)

l.

(b) Marketing FeasibilitY

(c) Project Report

(d) Critical Path Method (CPM) technique
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